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Inventory Management Practice Problems

Question 2:
A San Antonio stockyard uses about 200 bales of hay per month and pays a broker $80 per order to locate a supplier who handles the ordering and delivery arrangements. Its own storage and handling costs are estimated at 30 per cent per year. If each bale costs $3, what is the most economical order quantity and how many times a year broker’s services should be used?

Answers: a) EOQ=653.19 bales;  b) 3.67 orders per year
Question 3:

Far West Freeze-Dry company purchases 1200 tins of tea annually in economic order quantity lots of 100 tins and pays $9.85 per tin. If processing costs for each order are $10, what is the implied carrying cost of this policy?
Answers: a) $2.40 per tin per year
Question 4:
A manufacturer requires 6000 printed circuit boards per year and estimates an ordering cost of $20 per order. Inventory is financed by short term loans at approximately 10%, which work out to a interest carrying charge of $0.10 per unit per year. Storage and housing costs are $0.25 per unit per year, and the purchase price is $1 per unit. 
a)Find the most economic order quantity.

b) Find total annual cost of inventory, and 

c) The number of orders placed per year.

Answers: a) EOQ=828.07 units;  b) TRC=$289.82 TC=$6289.82   c) 7.24 orders.
Question 5:

A producer of photo equipment buys lenses from a supplier at $100 each. The producer requires 125 lenses per year, and ordering costs is $18 per order. Carrying costs per unit per year are estimated to be 20% of purchase price. The supplier offers a per unit discount of six percent for purchases of 50 or more lenses and an 8% discount for purchases 100 or more at one time. What is the  most economical amount to order at a time?

Answers: valid EOQ-15 units ($12800); 
       Ans: Price-break-50 unit (TC=$12,265) ; Price-break-100 unit TC=$12,442.50
Question 6:

Golden Valley cannery uses 64000 size 7-X cans annually and can purchases any quantity up to 10,000 cans at $0.40 per can. At 10,000 cans the unit cost drops to $0.32 per can, and for purchases of 30,000, it is $0.30 per can. The cost of ordering are $24  per order and interests costs are 20% of the price per can and apply to the average inventory. 
a) What is the EOQ, disregarding the quantity discounts.

b) What is the most economical order quantity , considering quantity discounts
Answers:
      a) EOQ = 6196.77 =6197

      b) valid EOQ=6197 units( TC=$26095.74); Price-break-10000 unit  TC=$20953.60
               Ans: Price-break-30000 unit (TC=$20151.20)
	
	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


